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Or the warner sees them; they are combined — °99UX% JNIN RN 790% IN

OVERVIEW

X217 stated that if the two (separate) 0°7¥ saw the 77nn or the 77n» saw them, the
two 27V are combined and become a valid m7v (and are able to convict the
accused). MdOIN questions the case where the 77nN» saw them.
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The explanation (of 797v¥n) is that he is executed by their testimony, for it is
not considered an individual nv7y.

MooIN asks:
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And if you will say; but how can we believe the 779n» to say that he saw both

0°7Yy, in order to Kill the accused - ,
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For it is understood in the case where the 0°7v say they say the 9n», they are
believed since they are two 2°7v, however there is a difficulty in the case where

the mmnn claims that he saw the o7y, how is he believed to the extent that the accused will
be executed based on the testimony of an X 7¥.

moson answers:
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And one can say that X271 is discussing a case where there are other 2°7¥ who
testify that the 7an» saw the 07V who saw the act, however these 2°7¥ who saw
that the 7701 saw the testifying 0>7v; they did not see the act.

SUMMARY
There are (outside) witnesses that the 77nn saw the 079 (otherwise the 7707 would
not be believed).

THINKING IT OVER

MooIN states that it is understood in the case where the 0°7¥ saw the 77n» that they
are believed since there are two 0>7v.* However each 7v only saw that the 77nn saw
him (not the other 7v for they are not "X X117 and are by different windows), so
each 7v should be considered an X"V, and should not be believed to kill the accused.

! Perhaps the "w11°0' of Moo is negating the view of the o*w7on w» that X2 is referencing the 71wn and oA is
relating to 71777 or 131 217p 171 'R R¥»1, therefore MdoIN states that the two single 0>7y are 77v¥A to kill the accused.

2 See ‘Thinking it over’,

* If those 0*7v saw the act we would carry out the ruling based on their testimony; we would not need the 717°%.

* See footnote # 1.
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